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A Schriftliche Subtraktion

578 5819 4]6]8 9]817 897
2|35 _13]8]7 _12/3]5 _15/4l6 _l48]5
5046 488 6|49 4|78 958
3|25 _12/6]5 _13]11]6 _1314]7 _152]7
71716 8l4l4 3189 70161 6|76
3|75 _1413]3 “[1]7]8 ~13l4l0 _136]5
6|56 8|94 7065 568 6718
3|55 _[5/6]2 _1214]3 (165 _11]3]5
398 41917 7046 8|89 9]817
1198 1181 -13]215 -13]7]8 11714

Kontrolliere mit Hilfe der Kontrollzahlen. Eine Zahl bleibt tbrig!

401, 411, 211, 421, 311, 431, 131,
333, 223, 221, 654, 200, 316, 421,
511, 813, 412, 441, 233, 202, 343,
543, 403, 522, 332, 301,
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